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Estos apartados contienen la siguiente informacion:

e |. CUADRO RESUMEN.
En el cuadro resumen se detalla el tipo de item, la respuesta correcta y la
puntuacion maxima, asi como la competencia especifica, el saber béasico y el
proceso lector evaluado al que corresponde cada pregunta.

e |I.ITEMS QUE PRECISAN CORRECCION Y CALIFICACION
Se proporcionan los criterios de evaluacién y calificacion de los items que deben
ser corregidos; también se incluyen las indicaciones para corregir el writing y
cinco ejemplos de producciones escritas con sus respectivas valoraciones.

e lll. INFORMACION SOBRE PROCESOS LECTORES, TIPOS DE TEXTO Y DE
iITEM
Aclaracion sobre procesos lectores, tipos de item y tipos de textos.

e |V. CUADERNILLO DEL ALUMNADO CON SOLUCIONES
El cuadernillo del alumnado completo con las soluciones marcadas.



|. CUADRO RESUMEN

La prueba consta de 29 items, de los que ocho se deben corregir y calificar. Son estos:

2,4,6,21, 24, 26,28y 29

Parte de la Na Tipo de item Respuesta Pungugmon Compet. Saber basico Proceso
prueba correcta maxima espec. evaluado
1 A D 1 CE1 | A2, A5 A6,A8 | Localizar
cerrada
2 RIS Nl 1 CE1 | A2, A5, A6, A8 | Localizar
semiconstruida apartado Il
3 Cerrada D 1 CE1 A2, A5, A6, A8 Localizar
. . Ver .
4 Semiconstruida apartado II 1 CE1 A2, A5, A6, A8 Localizar
Listening 5 Cerrada D 1 CE1 A2, A5, A6, A8 Localizar
. . Ver .
6 Semiconstruida 1 CE1 A2, A5, A6, A8 Localizar
apartado Il
7 Cerrada B 1 CE1l A2, A5, A6, A8 Interpretar
8 Cerrada B 1 CE1 A2, A5, A6, A8 Interpretar
9 Cerrada D 1 CE1 A2, A5, A6, A8 Interpretar
10 Cerrada A 1 CE1l A2, A5, A6, C3 Interpretar
11 Cerrada C 1 CE1l A2, A5, A6, C3 Interpretar
12 Cerrada C 1 CE1l A2, A5, A6, C3 Interpretar
13 Cerrada C 1 CE1 A2, A5, A6, C3 Interpretar
14 Cerrada A 1 CE1 A2, A5, A6, C3 Interpretar
Reading 1
15 Cerrada A 1 CE1l A2, A5, A6, C3 Interpretar
16 Cerrada G 1 CE1l A2, A5, A6, C3 Interpretar
17 Cerrada C 1 CE1l A2, A5, A6, C3 Interpretar
18 Cerrada D 1 CE1l A2, A5, A6, C3 Interpretar
19 Cerrada B 1 CE1l A2, A5, A6, C3 Interpretar
Comprensién
20 Cerrada C 1 CE1l A2, A5, A6 global /
21 Cerrada Rl 2 CE1 A2, A5, A6 Interpretar
apartado Il
Reading 2 22 Cerrada A 1 CE1 A2, A5, A6 Interpretar
23 Cerrada C 1 CE1l A2, A5, A6 Interpretar
24 Cerrada il 2 CE1 A2, A5, A6 Interpretar
apartado Il
25 Cerrada E 1 CE1 A2, A5, A6 | Comprension
global
26 | Semiconstruida Mg 1 CE1 A2, A5, A6 Localizar
apartado Il
27 Cerrada B 1 CE1 A2, A5, A6 | Comprension
global
. . . Ver CE1/ g
Reading 3 | 28 Semiconstruida apartado Il 3 CE 2 A2, A6, A9 Reflexionar
- Respuesta Ver A4, A5, A6,
Writing e abierta apartado I 14 CE2 A9, B1, B3 -




Il. ITEMS QUE PRECISAN CORRECCION Y CALIFICACION

Se presentan en este apartado los criterios de correccion y calificaciéon de los ocho items
que deben ser corregidos:

2,4,6, 21, 24, 26, 28y 29

2. When Jackie was a teenager, she did interrailing and she went from the UK to

Marking criteria

Marks

Answer

Any other answer.

Greece

Spelling mistakes will not be penalised.

4. This year we commemorate

Marking criteria

years of interrailing

Marks

Answer

An incorrect or incomplete response.

50 / fifty.

6. Richard says that Copper Canyon is

Grand Canyon.

and deeper than the

Marking criteria

Marks

Answer

0

An incorrect or incomplete response.

1

bigger

Spelling mistakes will not be penalised.




21. Only TWO of these statements about Cheetahs are true. Underline them:

All their body is pale yellow.

Females are as heavy as males.

Most of them live in sub-Saharan Africa.

Their head is heavier than those of other big cats.

Their tails measure less than 60 centimetres.

mmoow >

They can weigh more than 50 kilos.

Marking criteria

Marks Answer
0 No answer is correct.
1 Only one answer is correct.
2 Both answers are correct.

24. According to the text which of the following sentences are true and which

ones are false

True | False
A. Cheetahs only eat small mammals. X
B. Adult males and females are both quite solitary. X
C. Females can have as many as eight cubs. X
D. Cheetah babies are looked after by their mother only for 6 months. X

Marks Answer
0 Only one, two or three answers are correct or none is correct.
1 Three answers are correct.
2 The four answers are correct: F, F, T, F.




26. Cheetahs are in danger of extinction because of the loss of territory, the

lack of food and

Marking criteria

Marks Answer
0 Any other answers.
1 The conflict with humans or similar answer.

Reading 3

28. Write the word that corresponds to each number:

ALSO BEFORE BECAME DID
LIKE MANY MUCH TALL
THEM AFTER THERE us

Marking criteria
Answer

0.25 for each correct answer.

\‘



Writing

29. Last month you went on a day trip with your school. In about 125 words
write a school essay about that day. Use the tips below:
» When and where you went and what you took with you.
> Who you sat with on the bus and why.
» What you saw and did there.

> How you felt about the school trip.

ORGANIZE YOUR IDEAS before you start writing (this planning is scored).

First paragraph

Second paragraph

Third paragraph

Fourth paragraph




WRITING
A. HOW TO MARK THE COMPOSITION

It is likely that the 2nd ESO teachers that have to mark this composition are using this
kind of rubric for the first time. Acknowledging the difficulty of the task, we enclose a
simple guide to help them with the marking.

The 14 marks of the writing task are divided into TASK and LANGUAGE.

A) TASK comprises the aspects of PLANNING, ADEQUACY and COHERENCE.

* PLANNING: the written text has to respond to the planning of structures, vocabulary,
paragraphs, etc. that are going to be used.

The student needs to plan in schematic form what will be developed more thoroughly
later—single ideas, short phrases, vocabulary referred to the topic, connectors that may
be used later, the anticipated number of paragraphs, etc.

In this particular example, we contemplate a typical “my school trip” class essay, so
students may mention in schematic form:

» All the details about the trip (when, where...).

Who they sat with on the bus and why.

The thing they saw and did there (maybe an anecdote).
The feelings they had.

YV V V

They will probably use the frame given for the scheme, which has also been used in the
model, but they may have other ways of organising their ideas —mind map, list, etc.

»+ ADEQUACY: the text must respond appropriately to the task given and the length
required. Besides, it must meet the requirements regarding layout, mode of discourse,
register, etc.

In this case, we contemplate a typical “my school trip” class essay in about 125 words.
All the details that are requested in the instructions have to be dealt with for the task to
be considered satisfactory. The language has to be standard.

* COHERENCE: the text has to be coherent. It must be understood without great difficulty
by the reader. In this composition, the student has to deal with all the items requested in
the instructions in a logical, clear, well-ordered manner. The model and the draft should
contribute to that.

B) LANGUAGE comprises the aspects of COHESION, GRAMMATICAL
ACCURACY, SPELLING ACCURACY and LEXICAL RANGE.

+ COHESION: the text must contain the right cohesive devices. In this particular
composition, the writing is practically organised for them and there should be at least 3
or 4 paragraphs. Students are likely to use some cohesive devices like AFTER THAT,
WHEN, THEN, FINALLY, AND, BUT, SO, BECAUSE... Even if no cohesive devices are
used, cohesion can be expressed through the use of sentences ordered in a logical way,

9



the use of relative pronouns, personal or reflexive pronouns.... and of course by the use
of paragraphs to differentiate pieces of information.

* GRAMMATICAL ACCURACY: the text has to show correctness and control of the use

of the structures that must have been mastered by the end of 2nd ESO. In this
composition, students could use:

>

>

The PAST SIMPLE OF DIFFERENT REGULAR AND IRREGULAR VERBS,
(was, were, went, packed, arrived, ate...).

The PAST CONTINUOUS of some verbs (I was listening to the guide, when ...
we were eating in the park, when we...).

Tome students with a high command of English could even use the PAST
PERFECT (after we had arrived at the museum of Modern Art, | realised that...).
COMPARATIVE AND SUPERLATIVE SENTENCES (it was the funniest thing
that has happened to me ....).

QUANTIFIERS (we did a lot of things; | was a bit confused when | saw....).

The RIGHT ORDER of the different elements in the sentence (subject + verb +
complement), etc.

* SPELLING ACCURACY: the text must respond to the spelling accuracy expected for

the vocabulary acquired by the end of 2nd ESO. Occasional mistakes are acceptable in
less frequent words.

* LEXICAL RANGE: the text must show the lexical richness and variety expected by the

end of 2nd ESO. THE EXPECTED VOCABULARY could be:

YV VV VY

ADVERSBS to give a temporal framework (last friday, two weeks ago....).
NOUNS to name the things they packed (sandwiches, sunscreen...).
ADJECTIVES to describe a person (talkative, funny, generous...).
ACTION VERBS to tell what the student saw and did.

ADJECTIVES to describe their feelings after the trip (happy, tired...).

We suggest that for all the seven different aspects assessed you start checking the text
against the middle column (mark 1) and then move up or down as necessary.

10



B. RUBRIC

MARKS

0

There is no previous
planning or the

Partial or incomplete

Adequate planning

PLANNING L . ) (there is a scheme,
planning is not written | planning.
. ) clear notes etc.).
in English.
One or two of these four
aspects: - All the points in the
- Just some points in the instructions are
o instructions are mentioned.
T i\:]on.e (?[f thtg points in mentioned. - The number of
instructions ar . .
A ADEQUACY € .S uctions are - The number of words words is appropriate.
S mentioned or the may not be correct i
content is irrelevant. y ' - The layout is
K - The layout may not be adequate.
adequate. - The register is
- The register may not be | appropriate.
appropriate.
Easy to understand,
although there are some Easv to understand. A
COHERENCE Incoherent text. incoherent points that may y :
. e clearly coherent text.
make some things difficult
to understand.
. . Cohesive devices,
No cohesive devices Some cohesive devices linking sentences and
COHESION are used. There may be g
are used. . paragraphs. No
some mistakes. . .
serious mistakes.
L | GRAMMATICAL | Basic mistakes on 2% S;qum"‘;iccigtzgfrs . ('\)Afaz'”ly :gfg‘;aée use
A | ACCURACY* | year ESO structures. |2 y
N year ESO structures structures
G
Most words are
U written correctly, only
A SPELLING Many spelling mistakes | Some spelling mistakes some occasional
© ACCURACY* in basic vocabulary. (between three and six). mistakes (no more
E than two in a ten-line
text).
LEXICAL Limited range of Use of basic vocabulary, Rich and varied
enough to convey the vocabulary for 2nd
RANGE vocabulary.
message. year ESO.
Only the total mark is to be introduced in EDUCA Total /14
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C. SOME SAMPLE MARKED COMPOSITIONS

Below are several authentic samples of marked compositions written by year 4 of
Primary Education pupils and the marks given.

SAMPLE N° 1

ORGANIZE YOUR IDEAS before you start writing (this planning is scored).

¥ Bre Fus | STond UP o Svom Tl
bed cnd Tuen, Lot e breed fegl
First paragraph ond prewced 0 guweat fo the W3

in e o MY 8clends  broe alie

Pawce ond One sl Sud fo . feachnfr
Second paragraph Ont the fe

T\/\Q ‘eocihe Y Sn.d \k)‘vx‘{ CUSIA 1S ks
broke the  pouceca end e siLe S &
Third par ’ y s {
paragraph oty 03 Thom brobe the Plnce, 1),

| \/\U\}f/c ondd '« treg it

05 Las got

The Jecctner eXxgulke fre bc}, -8
q)i\’\e/ excor on O\[\C—\ TV\QI‘)—\ —*'ef/\ClA e

Fourth paragraph '
exuise Ve bog  Jronn g Scihool

Now write your text here: /

LI STaaN '1’ . .
Stond ve B B he bed ond  Hem e  QoX

i
e b;ec«th.kgr Cwd PreReed Fg YO wont 4o
lbue , in fhhe bes gpeol W Th e Rriendge BBand

Ep od  Tle trower 90ing 90dd but 2 Ore nenment
B ONC 08 vy 3ronds bmike one Pove o3 the bus
one 08 vl rless n~ades govd O 1o Afeocnher
ond ) Ytecchhor &o.\d Wwhi Pedon L‘CLQ. b/h\(d(‘
e wooce M 05 e set in S Conge ond
the closnodes Sod  Why 08 thew he s,
‘h/\g \3@(_, 2240 Ywrery and ot the cdosrete ,
bot he' heg got Z'cxﬂﬁ("éu‘U1€e;g and the Féoc ber
exXPol¥e the bes 1o exturcion  add 1o e School i
Thre Aeccher Steal w T the bus  croger end
lne S Pl tve  dewncie, En to tre
ok, , -/'i g (4NN (é 74 e &’.‘»L; g o CI®WA~( S e o
Pc/\/f/ “‘H/\F; denv~ie | o
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Samplen®1

TASK
. Partial or incomplete planning. 1/2
¢ Planning P P g
None of the points in the instructions are mentioned and the 0/2
e Adequacy content is irrelevant.
Sloppy handwriting, which makes it difficult to understand the 0/2
text. There is a sense of direction with the ideas although
e Coherence there are too many incoherent points and some cross-outs
that make the message difficult to understand.
LANGUAGE
No cohesive devices are used. The text is not organized in 0/2
e Cohesion: paragraphs.
Basic mistakes on 2° year ESO structures (“the teacher said 0/2
why person has broke...”, “all of the get in silence”, “the
e Grammatical classmates said why of them he is”). Inconsistent verb tenses:
accuracy: the candidate writes the text in present and past tenses
without paying attention. Sentence order is not always correct.
e Spelling Many spelling mistakes in basic vocabulary (“hungry”, “place”, 0/2
accuracy “consecuences”).
structure:
L exical Limited range of vocabulary and a lot of words in Spanish 0/2
L4 1 ” 13 H ” 13 H H ”
range: (“expulsa”, “denuncia”, “comisaria”).
General overview: TOTAL
The text written has no relation to the required task and the language used has 1/14

too many grammatical and lexical mistakes.
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SAMPLE N° 2

ORGANIZE YOUR IDEAS before you start writing (this planning is scored).

~oWh ray  Salends  Im e bus

First paragraph

ro TS gire

— Whe we e
) e, bo mmaee

wWhew WE }u\e it oS

Second paragraph

~ Walay  eXeunsian WE make

Third paragraph | what hauehened

chen  We wellton Te heds

| Fourth paragraph

Now write your text here: /

(e wewt Im &)Mf rngmth  With i s el 1o gﬂmsml\

We a0 mg To- 03.00 16 The supte 4@ fu  Demasy
L 'H,\EJ D Mme Smd ™y K,M_g went o %(D@"&D‘i
Stmmm , a }\Qa”\\mo\ With the MV(H“"“—’S and Otha.

QJ}\EM VJQ one. im DG"’\OS H ane  Im 'l‘LQ cenla «of m""‘"jh
omd W o FTo  tThe beacn, lecasS fle activity isin Hhe
Leagh . |

Whew we ame im the beoch we eal @ The (ywh
= :

mb  me  te the watt with the faigds o

Rtéoe§m+a.

1o M 3o e have 1R eXc,onl@m, omd the EBxcunsion. is

q@ o tHe wate W ith CaMaQ)

Whee we  put the <ases  we baledthe —anen ond
Fhe  torens {90, 2R PR Weth e ardvnd_ Lniauds.

hen  We  wilieme 4665 We lay buegemec S,
amd gmé.)ﬁg we a&beqm%# Yo Estelaliva -
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Sample n° 2

TASK
. - . 1/2
« Planning Partial or incomplete planning.
Just some points in the instructions are mentioned. Layout 1/2
e Adequacy and register are appropriate.
Easy to understand, although there are some incoherent 1/2
« Coherence pf)lpts and many cross-outs that may make some things
difficult to understand.
LANGUAGE
The text is  organized in  four  paragraphs. 1/2
e Cohesion: Some cohesive devices are used (“when”, “finally”).
Basic mistakes on 2° year ESO structures (“we went in last 0/2
month”, “we going to 8:00”, “to 11:30 we have the excursion”,
e Grammatical “tutors have very hungry”, “when we welcome to bus”).
accuracy: Inappropriate verb tense: the candidate writes the text in
present tense.
_ Many spelling mistakes in basic vocabulary (“becaus”, 0/2
* Spelling “refrescate”, “bolced”, “canoa’, “hungry”, “weth”,
accuracy “bid » “alleqated”
structure: ideogames”, “allegated”).
. Limited range of vocabulary. 0/2
e Lexical range:
General overview: TOTAL
The candidate responds partially to the task given, but the text shows untidiness | 4/14

and it is difficult to understand in some points. The language used has basic
mistakes on 2° year ESO level and recurrent spelling mistakes, making it difficult
to understand the message.
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SAMPLE N° 3

ORGANIZE YOUR IDEAS before you start writing (this planning is scored).

Chinee , 26 septemben
First paragraph

M7 éaﬂ‘ gu&w/

Second paragraph

Third paragraph Chinase Pgs}a U’d'\ﬁ{ ALCVeNUmS
7/

= fecce.

Fourth paragraph 60 fumy

Now write your text here: Qb/

Ths et an bz scheol we ,g@?;)
[ ‘(/ul't/(iL c(“ \)‘Llc’ %f-o(/ @«Q o \/p N =
Zé @Q S@bslvfméq\

QQ(I He é(& o sate  whk Ay bes/
tgga A k A @r\/ﬂlh/o oloane kY
ljj f&:é@é z bczss <? X‘dfmk—; L}/(‘ﬂ(/&“{o (4
q//n* gat ‘1717/4/ u/ﬁv/% ©’s ‘u 4 i

QA Lhuwg  we  saw 04 ‘/@} e/"/ icl’\(/rdg‘/

Vlp Chinese reflapnls . aryapives daol . E7
Locld , we qg‘ @a o ohisase l-é&‘qkzu}a_;‘l ==
(Eo=me— gle Vm( wors SO ool el Vhe Jrsk
&g de q:/uozL//NL C}oo Ye FA Retre wien Phe

F"PA-&GJ»?« COU——..‘_}g‘ W rc S {g()/l./\./\r N

T  lowe Yhis 3L/*/a beroese 1 /Z?U(; Yhe  thiage
NN L
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Sample n° 3

TASK
- . . 1/2
« Planning Partial or incomplete planning.
The text responds appropriately to the task given and the 2/2
length required. All the points in the instructions are
e Adequacy . .
mentioned. The layout and register are adequate.
1/2
Sloppy handwriting, which makes it difficult to understand the
coh text. There is a sense of direction with the ideas although there
* Loherence are some incoherent points and some cross-outs that may
make some things difficult to understand.
LANGUAGE
The text is organized in  four  paragraphs. 1/2
e Cohesion: Some cohesive devices are used.
Basic mistakes on 2° year ESO structures (“I sate with my best 0/2
e Grammatical friend”, “I pass it funny’, “Y slept and talk with us”, “the F1 race
accuracy: won the Ferrary car”).
* Spelling Some spelling mistakes (“whit”, “girld”, “chinease”). 172
accuracy
structure:
. Use of basic vocabulary, enough to convey the message. 172
e Lexical range:
General overview: TOTAL
The candidate responds appropriately to the task given, but the text shows | 7/14

untidiness and it is

difficult to understand in some points. The language used has

basic mistakes on 2° year ESO and some spelling mistakes, but it is enough to
convey the message.
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SAMPLE N° 4:

ORGANIZE YOUR IDEAS before you start writing (this planning is scored).

21’5?06 Sep*m Lel—
To 3 Vi)otvela

First paragraph No many Thimeg, “‘3 a baclloadl, o gom—ns

Hedahl bl
/‘13 GI‘CMA ”a.'g\e(

s vcr:) ﬂ.‘.mj
Te .\Pc.qK

Second paragraph

Veny 4 buld
S*VO’DCMJ Lvt‘\c)f.“js

Third paragraph
P g p I \tK i*‘) L\‘s Pt | iMUSum)

Was  ver em‘\rr\‘n‘m"),’-nj , iwtecestion
T r(‘!fgr 3 SQ(M\J oM o "r;t *L’tam -v\o('-vnql cl-;sg;_

Fourth paragraph 3 love i
Nice time w{“‘ ‘Fﬁ(MJS.

Now write your text here:

te Vi e 21% of It +

l-n {L\G ij. l wtmk_’-d_l‘\_w%ﬁ_ﬁﬂ_ b‘csg:g ,j"‘lg is
- wo bod o Ui of gy 3 DYESTLp

t'o:s am

Lon sere THY '““ of ws 'grc'&r%’*hm‘“ & tég; of j:n‘?': Than

L i‘\ N o ‘ Clsﬂﬁ




Sample n° 4

TASK
[ 2/2
« Planning Adequate planning (scheme, clear notes, etc.).
The text respond appropriately to the task given and the 2/2
length required. All the points in the instructions are
e Adequacy . .
mentioned. The layout and register are adequate.
Easy to understand, although there are some incoherent 1/2
o Coherence pplpts and many cross-outs that may make some things
difficult to understand.
LANGUAGE
The text is organized in four paragraphs. 1/2
e Cohesion: Some cohesive devices are used.
_ The text shows correctness and control of the use of 2° year 2/2
* Grammatical ESO structures
accuracy: '
e Spelling Some spelling mistakes (“thouse”, “inusual”, “entreteining”, 1/2
accuracy “trip’s”).
structure:
. Use of basic vocabulary, enough to convey the message. 1/2
e Lexical range:
General overview: TOTAL
The candidate responds appropriately to the task given, but the text shows
untidiness. The language used is grammatically correct for the level expected, but | 10/14

there are some spelling mistakes.
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SAMPLE N°5

ORGANIZE YOUR IDEAS before you start writing (this planning is scored).

LosA oD T caeet on o Shool rip wsidh iy dass . W (gont
_ do & musam, hare . in Pomplons. T dogk o Ml shod bag
First paragraph wilh o bettle of waler ad ssva dood i case I god honary

' 35
On the boo T sed with o gl callod chjw“’ 3\1‘?;0:?;
besd friend S0 Kindw qaidon, We have o lod o8 G ‘bj"\i\\‘“‘
we gy S 00 veally el and G oKL core of cadh gther

Second paragraph

75
We wad o e mugom 1o e more choot whed we

wew loarning od fistory. We saw o lot ancient picdtovs
Third paragraph 0d oilsy

\fc
T fovnd w Jw.p Vary m‘\uc*"g' T wos Lescingled

avout g\ dwe Koowldae T ganed on@ e (4 1

Fourth paragraph MOKOM . T 1o

\YB ‘GJ‘W\&LL\d 4o V\S\‘\ ‘“)(A ong\ Saml
Moseun  (ydh ) (OM‘};-

Now write your text here:

Losd moath T weeat o0 o School drip  nsith my_class e (sl 1o o museum,
hove, in Pomplono. T dooK poith me o Itle Scheol boa teitho botile of
wsoter gnd Somk food (Fml in caose T 5ol hmgn‘}.

On -“\l ws T sal wailh o diel eallod Lc_sw:e,' she hag hean My {rieBgd
Since Kindey sorden. We have o lel of fun toghethar, wee Sed oo veally
Wl ond e doke rare of cach pther

b&‘( (,5&()+ "O A NUSCHmM "lo A0 Move  abool '{ (8e g ] NN

at nistoly. We sous o lot o€ ancient opls and piclures.

I foond the tvip vevy iofeestiva. T ans fasunaled about all the
Woouwladge T goimned once (@ ledt the mosepm, T'm looKing fowusord

1o visid thed exad ot muscum  gaith My 4‘0mi)3 00d  shous o tohad
T Leovnl

20



Sample n°5

TASK
' 2/2
« Planing Adequate planning (scheme, clear notes, etc.).
The text responds appropriately to the task given and the 2/2
length required. All the points in the instructions are
e Adequacy . .
mentioned. The layout and register are adequate.
Easy to understand. A clearly coherent text. Ideas are laid in 2/2
e Coherence a logical, clear and well-ordered manner.
LANGUAGE
The text is  organized in  four  paragraphs. 2/2
e Cohesion: Use of cohesive devices and linking sentences.
_ The text shows correctness and control of the use of 2° year 2/2
e Grammatical
. ESO structures.
accuracy:
e Spelling Most words are written correctly, only some occasional 2/2
accuracy mistakes (“toghether”).
structure:
Rich and varied vocabulary for 2" year ESO. Use of 2/2
_ | expressions from higher level (“get on really well”, “take care
e Lexical range: ,
of each other”).
TOTAL
General overview:
The candidate responds appropriately to the task given, using the adequate
language for 2° year ESO level. 14/14
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ll. INFORMACION SOBRE PROCESOS LECTORES, TIPOS DE
TEXTO Y TIPOS DE ITEM

% Procesos de lectura: tabla extraida de IZA, L. (2007). El plan de lectura en los
centros de infantil y primaria. Bibliotecas escolares. Blitz, raton de biblioteca.
Gobierno de Navarra. Pp. 17-22.
https://www.educacion.navarra.es/documents/713364/714655/elplandelectura.p

df/4cacb098-4adb-40fe-9d96-6a7f4260b126.

Procesos de lectura

Definiciéon

Localizar y obtener
informacién (Implica
atender a partes
concretas del texto)

Localizar informacion explicita en el propio texto, con las
mismas palabras o con sindnimos, localizada o
distribuida por el texto.

Interpretar e integrar

(Implica una

comprension de las
relaciones dentro del
texto, entendiéndolo

como un todo o

atendiendo a las
relaciones entre las

diferentes partes)

Interpretar: comprender de forma logica el texto. Esto
implica comparar y contrastar informacion, realizar
inferencias o identificar pruebas de apoyo, por ejemplo).

Integrar: comprension global. Extraer lo esencial del
texto, considerado en conjunto, estableciendo una
jerarquia entre las ideas.

Reflexionar

(El lector o lectora
emplea el conocimiento
exterior al texto)

Sobre el contenido: evaluar las afirmaciones del texto
contrastandolas con el conocimiento externo, para
considerar criticamente el contenido o posicionarse ante
la realidad representada.

Sobre la forma: evaluar las caracteristicas linguisticas
del texto en los planos morfosintactico, Iéxico-semantico
y textual.

También se puede consultar el Marco Teérico de Evaluacion Diagndéstica.
Educacion Secundaria. En las pp. 35-39 se ofrecen numerosos ejemplos de
tareas que trabajan cada proceso:

https://www.educacion.navarra.es/documents/57308/57722/Marcoteorico2.pdf/7
€430de5-1b5b-485f-b26d-c7697ac29915

@

% La clasificacion de los textos se ha basado en los siguientes conceptos:
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(basados en el Marco de Competencia en Lectura de PISA 2018)

> Textos continuos o discontinuos:

o Continuos: aquellos que estdn formados por enunciados
organizados en parrafos con convenciones de espaciado y de
puntuacion. Los encabezados y contenidos o el uso de diferentes
fuentes ayudan a reconocer la organizacion del texto. Los
marcadores del discurso y conectores proporcionan, ademas,
informacion organizacional y logica.

o Discontinuos: se organizan de manera diferente, por lo que
requieren un enfoque de lectura diferente y requieren de
estrategias de lectura no lineal. Suelen mezclar el texto con
diferentes elementos graficos y presentar la informacién de forma
diversa. Ejemplos de texto discontinuo son listas, tablas, gréaficos,
diagramas, anuncios, infografias, programaciones, catélogos,
indices...

» Modalidad textual en funcién de la intencién: instructivo, descriptivo,
narrativo, expositivo, argumentativo, transaccional.

> Géneros textuales.

% Clasificacion de los items en funcion del tipo de respuesta que exigen:
(basado en el marco conceptual de la evaluacion del Instituto Nacional de
Evaluacién Educativa)

» Respuesta cerrada: el alumnado debe seleccionar una opcién de entre
varias ofrecida, relacionar ideas, establecer la veracidad o falsedad de
una afirmacion, ordenar ciertas opciones... etc.

» De respuesta semiconstruida: implican que se rellenen una o varias
casillas o espacios con una palabra o cifra, que se complementen varias
frases o que se responda a alguna cuestion con una respuesta corta.

> De respuesta abierta o construida: exigen elaboracion por parte del
alumnado.
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V. CUADERNILLO DEL ALUMNADO CON SOLUCIONES

Por ultimo, el mismo cuadernillo que ha tenido el alumno con las soluciones marcadas.

Listening

Listen to Jackie and Richard talk about travelling by the train. Choose the best
option (a, b, c or d) or complete the sentences as in the example (0).

INTERRAILING: to travel using
an international rail pass,

which permits unlimited travel

through many countries via train

0. Example: Jackie has recently travelled from ...Portugal ...to the UK.

1. Jackie says that travelling by train flying.

is as expensive as
is not as pleasant as

is less expensive than

© o w2

probably takes more time than

2. When Jackie was a teenager, she did interrailing and she went from the UK
to Greece.

3. Talking about interrailing... Which of the following statements is TRUE?

A. Interrail passes were valid for more than a month.
B. Jackie’s train ticket cost 20 pounds.

C. Itwas only for people over 26.

D. You could travel anywhere in Europe.

4. This year we commemorate 50 years of interrailing.
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5. Now, interrailing is very popular with ...

A.
B.
C.
D.

students.
retired people.
middle-aged travelers.

both young and old people.

6. Richard says that Copper Canyon is bigger and deeper than the Grand

Canyon.

7. One of the following statements is FALSE:

Richard’s journey on the Copper Canyon train...

A.

took him about 10 hours.

B. took him only along the coast.
C.
D

. was the most amazing train journeys he’s ever taken.

was five hundred km long.

8. Jackie and Richard think that travelling by train in Vietham and Thailand

was...

oc o w>

slow and boring.
a great experience.
very tiring and sleepless.

funny but quite uncomfortable.

9. Jackie and Richard ...

O o w>

have just been to Paris.
have bought the train tickets for Paris.
still like travelling long distances by train.

want to go to Paris by train.
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Reading 1

PART 1. For each question, choose the best answer (a, b or c¢) as in the example

Exemple.

e % *

v jbggers/Track i \
s Suits ; -
& only be worn to scp (f*o :eggmgs should

.
) Pup,,S ShOUld brin~ -~ &0

10. Camps run for one or two weeks at
two Scottish locations — Crieff and
Edinburgh — with campers divided
into 'cabin groups' of 8-10 who are
the same gender, roughly the same

age and a mix of nationalities.

A. Pupils can never wear anything

different from the school uniform.

B. Pupils are allowed to wear

tracksuits to school only on PE
days.

Pupils should wear tracksuits only
for PE lessons.

\NIEKNG
2

International Summer Camp

m UK - Camp Cooper

4
“men

A. Camp Cooper takes place in two different places.

B. 8to 10-year-olds attend the camp.

C. Camp Cooper is a camp for Scottish children.

school Meals v
menu

SLC have launched Obr‘\he;t’pﬂ\.
tarting on Monday 26 e

it(\je cost of meals hc;\:nc

.Oto£1.95.- -
f';gg:rf\::'gon is contomed within
l ¢

the appP

. From April 26th school meals will

be cheaper.

. The cheapest menu is £ 1.70.
. School meals will cost less than

£ 2.00.
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12.

n Uniform Da
[ ve a non

ot we will ha =
B O F?r?\aga:;. This is @ NO cc:‘t day
‘ \:\;lei\\ pe holding Ha\\sowe
activities in each class. d

rovide

greed t(; ps. Juice will

i ase let U ( ‘
ice. there 1S @
A o why @ pup! S A
ny ite \ease oon‘tab\e )
; haevsv':\ \ook to sourceasm -
V;\temal'\ve.

13.
Diocese of Leeds,
Church of England

Parish organist and choir leader
The United Parish of
Hampsthwaite and Killinghall are
seeking a parish organist and
choir leader. Approximately 12
hours a month paid by the hour.
14.
A XN
7 Morning
Arrangements
The school playground

will not be open in the
morning untj| 8.45am
and we ask thqt you do
not send your chilq
Prior to this time,
Pupils can, if they wish
gain access to the ,
school from

8.§5am. Please note
this includes wet
mornings.

A. Uniforms are optional at this

school.
B. Children who cannot have crisps

do not go to school on Friday 30%".

C. Juice and crisps will be free.

A. Full-time vacancy offered.

B. Musician wanted, no more
12 hours a month.

C. Salary will depend on the
number of hours worked.

A. Pupils cannot enter school before 8.55

am.

B. Pupils are allowed to enter school at

8.45 on wet mornings.

C. Pupils can stay on the playground

before 8.45.



PART 2. For the next 5 questions, choose the most suitable answer (A - G). Use each

letter once only. Which notice (A - G) means this?

It says...

Example: Drinking and eating are not allowed!

Notice
ABCDEFG@

15. You don’t need to take the stairs any more. A B C D E F G

16. We're looking for the owner of a piece of jewellery.

Come to pick it up!

17. You have to pay in advance. A B C D E F G

18. Stay safe! In hot weather, drink as much as you need

to stay cool.
19. Every week they’ll be changed or removed. A B cCcDETFEG
A B C

WTHESE NOTICES WILL BE . - @ Parkille Bowling Lanes

NOTICE Sl st 2do @
W Q‘ﬁ birn Give us a call at

ELEVATOR BACK |
IN SERVICE | 410-444-6100 to reserve

Lost necklace

A silver necklace that had been found last year is still at reception. If
you have lost this please come and collect at your earliest

convenience.

17 March 2022 & Lost and Found NO FOOD

F
damas

(, JEWELLERY EXHIBITION%
KARACHI

4™ to 8™ May, 2017
at Henna Hall, PC Hotel

(11am to 10pm)

Exclusively for the Exhibition

Wednesday, March 15, 2023 | 4:30 PM 30%SALE

On Diamond & Gold Jewellery
6457 Kiln DelLisle Rd.

G H

OR DRINK
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Reading 2 - Cheetahs

Nearly all wild cheetahs
can be found in sub-
Saharan Africa, where they
live in the savannah plains
and open forests. A small
population lives in Iran,
although only a few dozen

remain here.

These big cats’ bodies grow to between 1.1 and 1.4 meters long, plus a tail measuring 65 cm to
80 cm. Their weight ranges from 34 kg to 54 kg, males can be a bit heavier. Cheetahs have a

pale-yellow coat with black dots on the upper parts, and are white on the belly.

The fastest land animal in the world, a cheetah can reach 112 km/h in just three seconds — that
is faster than a sports car accelerates! Its body is prepared for speed, with long legs, a long

spine, adapted claws to stick to the ground and a long tail for balance.

Cheetahs are carnivores and live off other animals they find on Africa’s plains, including rabbits,
gazelles and birds. These strong felines hunt during the day to avoid competition from other
meat-eaters such as lions, hyenas and leopards. First, they use their exceptional eyesight to
look carefully at their habitat before choosing their prey. Then, when the time is right, they
sprint, knock down their victim and kill it with a bite to the throat. As sprinting at such mega

speeds uses a lot of energy, it lasts less than a minute.

Cheetahs are usually found in groups, consisting of a mother and her young cubs (who stay
together for around six months after leaving the mother) or a group of males who live and hunt
together. Adult females, however, tend to be solitary. Females usually give birth to between two
to eight cubs at a time. She takes care of them until they are 16 to 24 months old and able to
look after themselves. Sadly, this beautiful animal is in danger of extinction by loss of habitat,
lack of prey?, as well as conflict with humans. Today, only an estimated 9,000-12,000 are living

in Africa.

1 PREY: an animal that is hunted and killed for food by another animal

30
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20. This text can appear in...

a book of history.
a newspaper.

a science magazine.

oo w2

a travel magazine.

21. Only TWO of these statements about Cheetahs are true. Underline them:

. All their body is pale yellow.

. Females are as heavy as males.

. Their head is heavier than those of other big cats.

A

B

C. Most of them live in sub-Saharan Africa.

D

E. Their tails measure less than 60 centimetres.
F

. They can weigh more than 50 kilos.

22. Cheetahs...

are built for speed.
are faster than any other bird, fish or mammal.
can reach 130 km/h.

© o w2

use their claws for balance.

23. When they hunt, cheetahs...

choose their preys during the night.
kill their preys with their claws.
look out and surprise their victims.

oc o w>

run after their victims for a long time.



24. According to the text, which of the following sentences are true and which ones are

false?
True | False
A. Cheetahs only eat small mammals. X
B. Adult males and females are both quite solitary. X
C. Females can have as many as eight cubs. X
D. Cheetah babies are looked after by their mother only for 6 months. X

25. In which paragraph do we learn about their family system?

moow>»

Paragraph 1.
Paragraph 2.
Paragraph 3.
Paragraph 4.
Paragraph 5.

26. Complete the sentence:

Cheetahs are in danger of extinction because of the loss of territory, the lack of food

and conflict with humans.

27. One title for this article could be...

© 0w

CHEETAHS, the most beautiful mammal.
CHEETAHS, a fast, fierce and ferocious animal.
CHEETAHS, the last feline of Asia.
CHEETAHS, the last feline of the Savannah.
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Reading 3

Read the text below and choose the most suitable word for each blank from the words

given.

Prof. Yuval Noah Harari interview

JOURNALIST: Hi Yuval! What can you tell us (0)... about ... ancient humans?

YUVAL: We're used to being the only humans in the world, but if you go back hundreds of
thousands of years, the world was actually populated by (1) many different types of
humans living in different places — some big, some small, and often quite different to (2) us It's

a remarkable realisation!

J: It’s so cool to think that (3) there were once loads of other types of humans around at

the same time. What were some of the others (4) like?

YUVAL: In 2004, scientists on the island of Flores in Indonesia found bones of ancient humans

who were just 1m (5) tall and had very small heads the size of grapefruits!
J: Woah! Who were they and how (6) did they get there?

YUVAL: Ancient humans reached Flores almost a million years ago (7) before it was an island.
But then sea waters rose and it was cut off from the rest of Asia. There wasn’t (8) much food on
this island, so scientists think that the smallest humans had the best chance of survival as they
didn’t need to eat a lot. Then these smaller people had kids and they (9) became smaller and

smaller, generation (10) after generation.

J: You’re (11) also famous for writing about technology. Should parents be worried

about their kids using social media?

YUVAL: Technology is at the centre of our lives, so kids need to engage with it. But adults need

to teach (12) them how to do that in a responsible way.

33



28. Write the word that corresponds to each number:

ALSO BEFORE BECAME DID
LIKE MANY MUCH TALL
THEM AFTER THERE usS

Writing

29. Last month you went on a day trip with your school. In about 125 words write a

school essay about that day. Use the tips below:

> When and where you went and what you took with you.

» Who you sat with on the bus and why.

» What you saw and did there.

» How you felt about the school trip.
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